
Name:_________________ Date:_________________

Largest cities in Kansas

Which Word
Circle the letter of the word that best completes the sentence.

1) ______ is the ninth largest city in Kansas.
      A. Shawnee       B. Salina
      C. Lawrence       D. Manhattan

2) The capital of Kansas is ______.
      A. Topeka       B. Shawnee
      C. Olathe       D. Salina

3) ______ is the eighth largest city in Kansas.
      A. Kansas City       B. Wichita
      C. Olathe       D. Manhattan

4) ______ is the second largest city in Kansas.
      A. Overland Park      B. Lenexa
      C. Salina       D. Wichita

5) ______ is the seventh largest city in Kansas.
      A. Lenexa       B. Shawnee
      C. Manhattan       D. Kansas City

6) ______ is the sixth largest city in Kansas.
      A. Overland Park      B. Olathe
      C. Topeka       D. Lawrence

7) ______ is the fifth largest city in Kansas.
      A. Shawnee       B. Olathe
      C. Manhattan       D. Salina

8) ______ is the tenth largest city in Kansas.
      A. Lenexa       B. Lawrence
      C. Wichita       D. Shawnee

9) ______ is the largest city in Kansas.
      A. Olathe       B. Salina
      C. Wichita       D. Manhattan

10) ______ is the third largest city in Kansas.
      A. Topeka       B. Lenexa
      C. Kansas City       D. Olathe
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